
5 . 1 33211140 F[$nntp]rh r]+S 100/100 sz hullrup 4440 111000 25
5.2 33217120 T1;nr\nqur 4 x120 rI1 480ptutn qZ hullurp 5760 1 1s200 20
5.3 33210000 ABO / IV/ uirurp qt $pr\ntu )
t r ^ 3321 1260 ACLO 5tl1 h lurhrnpnl 2 hurur - 100 Bhuu qz hunlrup 7200 43200 6
) f 33210000 hrlhpufrrtr 1nrr1 SZ Sp\nlr 2000 4000 2
5.6 3321 1310 tlpnrlpnrqpruuirtr l0 x 5 rI1 s2 hu{urp r2960 194400 15
)-/ 3321 1250 C-flhur\rnfr{ uqfrurur\n4 100 phurn sz hu{urp 4700 70500 15
5.8 33271240 ftllln$ur\urnp 100 phutn s2 hullurp 5400 81000 15
5.9 3321 1 130 tun1huphplrh 2xl20 rI1 - 240 phuur SZ hur{urp 6720 235200 35
5 .10 3321 1230 Uh$hrlru RPR 100 phurn sz hul{rup 4440 44400 10
5 .11 3321 1200 Shurn nhurqhhur hur\ur-.F l0rl1 -200 phurn sz $L 720 7200 10
5 .12 3321 I 190 Shuu nhurqhhur hulur-U l0rlt -200 Bhurn sz QL 720 7200 10
5 1 3 33691 1s8 Shuur nhurqhtrur hur\ur-Utr 10d1-200 pturn s2 SL 1150 1 1500 10
t r 1 t 33211220 Shurn nhurqthur hur\ru-D 10115200 phurn sz $1u11nh 1650 16500 i0
) . 1 ) 33691 1210 Unrqhp hur\ur uC, qz rI1 850 1700 2
5 .16 3321 1 160 trphurrnlrhfrh 2 x 120 rI1 - 240 pburn nz hunlurp 2760 55200 20
5 .17 33210000 SpurhuullfrLurqur UUS 2x60 rlr -120 Btuu qz hullrup 3120 46800 l5
5 1 8 33210000 iFurhuunllrburqur ULS 2x50 rl1 -120 phurn qz htu{urp 3000 45000 15
5 .  t 9 3321 I 150 Ulrqurhlnr-p 2 x 120 rI1 240pturn qZ hullurp 8040 120600 l5
5.20 33210000 $ntnnrfhurpfr rqlurutnlrll \lmrlhrn qt hruilrup s040 s0400 10
) -z r 33210000 Na gbmphghtr qt \q

.'
z

5.22 33210000 Untl$nuurfrglrlurppnr qz !q 8000 16000 2
q  t ? 33210000 5|rpurutnlHCL q2 tnnrql r0000 10000 I
5.24 33210000 Llq*fnfnrlh HCt 4h gfrtrnprlurprhng qZ rurlul 1500 1s000 10
)-zJ 33210000 dccFnt-2O0 uurppurrlnpnnlp durgq hhqnr-l1 q2 lnm+ 4

) .zo 24/51140
Zrul1urhhfuir2 qh1 &hnphpfr hhqhhbhU hL
rlfrpurpndur\urh rl2ur\tturh hunlurp /Uhfrndhl l1uril
hurrJurndto/

q2 t 2340 117000 50

5.27 24457140

L luuurnurull lrrntuulnl.rd uurFuruEuqrud
hh4nullnqhhp[ h pd2\ur\utr h2urhu\mplurh
unup\urtrhpb (trLU) urlurnurhurtrtltutr,
hurluunlurhphurqhpbnttturllrh rl2ur\utfurtr hunfup:
/Zhpurutrlrnu \unf hunlurpdhpl

q2 L 9801 294030 30

5.28 24/,51140
rftu\hphubhpfr urluururhurtrtlurtr h rlurppilurtr
hunlurp:
iUnr-l$ruhlrnu \urf hurtturpdhpp/

qz t 4100 102500 25

5.29 245rr40

uulqrrlulF uluuruluuruI

( trUU ) L ilurhphurqhpbn4 blmp -

9lnttnupruphhfrq 20olo: fu tnurhlnrp :
/Uurhp[urhnu \uril hurfurpdhp/

qz I
L 19602 78408 4

5.30 2445714.0 Plnpunllrh tr q2 \q 3000 60000 20
5.31 24451140 du{h1unfirr1 qz ulnlrb 3100 1ss00 5
) -J l 2445t14.0 'tlhphhf4pnl 33olo q2 500 15000 30
] . JJ 33691 160 $tudlqfrur AB 25 hhururqntn. nz rnnr+ 24000 96000 4

5.34 33691 160
2tf\npur\urhn qhf"fth IgG, urnurtrg uurpp.,
/rururhchurhh rltnnn/

SZ unt{r 9000 .5 63000 7

) .J f 33211320 lhqururlrn tr qZ tnnL+ 1992 47808 24
) . J O 332i1320 lhqururfnn 3 q2 uIm+ 3672 88128 24
5.37 33210000 3frunlnqlru\urh Slrpunrl urhpnqnl 100rI1 q2 hurn 6900 69000 10
s.38 33691 159 Sysmex XP-300 Utrqrut l0 r q2 hruur 18000 90000 5
5.39 33691 159 iysmexXP-300 UurnndururnturqhnWH qz unr+ 105000 31s000 3
5.40 3321 I 100 lysmex XP-300 Uhrlrrhh qe hurur 40080 160320 4
5.41 33141160 Unhnqnur$hurrh qhr 250rJr q2 hurur 330 33000 100
5.42 3321 I 1 l0 Uhnhurupnhh /10 utunuilSurrr/ 100 Bturn qz rnnr+ 7080 106200 15
5.43 3321 1250 C-fttu\uf{ uq}rururlnq 100 phutn ql hur{rup * 15
5.44 3321 I 150 Ulrqurppnr- ?x B0 rI1 240phuur q2 htu{up 4
5.45 3321 l 130 tunthuphnhh HDL 4 x 30 rlr - 120 Bhuur ql hrurlrup 4


